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20 (1)—5<x<5 (2)—5<x<l (3w=—1, 3=x (4)—%<x<% (< —2, 8<x
(6l <x<>
21 (AxZ2—6DEE, x+6>3x LD, x<3 LoT, —6=x<3-- )
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ETOTSRE ThEn®, OLT 5. DEMOT, x>5—a @, QEMT, x<LHL .
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15000x+10000 (8 —x)<100000, x<4---@ @, @% & B/ THARBIL 31295,
FIvZARSE, FFy Bl 8—3=5(&) Lk 5.
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{1, 3, 15}, {1, 5, 15}, {3, 5, 18}, {1, 3, 5, 15}
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4)—2=x=—1 Ba<—4 T2k —2<x

24 (NBHDEKxIZOPVWT, (x+1)P<0THA. 15

INBHDHEKx, yIIHL, 4H/'S0THh3. E
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RrERTOER x IZoWT, x<1Thsd. &
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= (2a+2¢)(26—2d)+ (2b+2d) (2a—2¢)=4(ab—ad +bc—cd)+4(ab—bc+ad—cd)
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8 x2+iz=(x+i)2—2=3, x3+%=<x+-91?>3—3(x+716‘>=2f5_l D,
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s 1 _ 1 AN (o I\ _eE

Ftd=(w+ T+ S (x4 =55

DWGLI xyz 2T T, yz-}-zx—l-xy:%xyz

1

(1)5-%=(x—3) (yz—3y—32+9) =xyz—3 (xy+yz+zx)+9 (x+y+2)—27=xyz—3" 3

xyz+9-3—27=0

(25 =2+ +22—3xyz+3vyz=(x+y+2) (FP+y*+F—xy—yz—2zx)+3xyz
=(x+y+2) {(x+y+2)"—3(xy+yz+zx)} +3xyz

=3<32—3 -%xyz)-i— Ixyz=27

(Nex=4 Dk &, 2dx—41>Tx+4, 2(dx—4)>Tx+4, x>12 ®
ox<4DEE, 2|2x+H4[>Tx+4

P—2Sx<d DE X, 2(2+4)>Tx+d, x<% 1o, —2§x<%~--~-'2=
Qr<—20 &, —2A+)>Tx+, 2<—T2 £oT, x<—2-@
D, @, BrabeT, x<%, 12<x

(25K =TI+ (c+2) —2/1- (x+2)
I>x+2mk &, 5X=1—Vx+2 x+2210L&, SR=/rt2-1
IoT, —22x<—1DE%E, 1—J/x+2, x=2—-10DEE, /x+2—1

GHEE D, KOTERAH Y 70, (1+2x)—1‘%0g%<x+1><(1+zx>+% ------ 0

T2, 12 3ABEIMNTTORENS, x 3B, PMMEIMNITOR NEE2MTE TORTINE
2NOEMBS THEIBOTIANTH B,

Orm L, %<x§i FTRALE P CEET S E, HTIREHDE, x=0.6, 0.65 0.7, 0.75

4
(10<a=l
2ANBIZEINBLEHIL2, 3L%bh6, 32a<d
(BACBDE &%, BCAXHL, a=5h
PAOMEEEST, d+dEG LY, 2dEG, d+2dEG &Y, 3dEG, LXDELTWE,
HEEOBRBEIINL, RAEGTHEI VLD S,
Wi, GO kd DI TRELVER 2 PFETHLERET L L, DLEBRBmAPEELT,
md<x<(m+1)d Thrb ZIT, 0D, x—mdeEGTh5.
LAY, x—md<m+1)d—md=d %5575, GEd EHV/HMIWEFEELOZLIIRY, FETA.
DRI, GiX, G=lkdl E ZBKRE OWIT R 5.
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